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Earlier
,
we saw that regular martingales Xn -- ECXIFnl.am UI
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It turns out that
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in the Lt - bounded category , the converse is true .
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( For the submartingale case , see [Driver, Cor 23.591 .)



Cor : Let kp - es . Suppose Linney is an LP -bounded martingale .

Then figs Xn = :X es exists g. S . , Yes c- LP , and Nn -Xeslllp→ e.

In particular, Kinney is a regular martingale : Xn= Elks 1%1 a. s .
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As a final note : recall the optional Sampling Theorem , which in general
requires bounded stopping times .

Theorem : 1 optional sampling Theorem ,
II)

Let Hn)ne☒ be a regular martingale , and let Xo : = knifes Xn
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